log AY/Y)

LABJNDu3 standard lightnessI*
Ync YW

I* nc=100,

1* L aganbua =IIN[A 10 FAZY)A 20A 0] (Yad/ 100Y<=Y,0)
I*N(3,6)=218 1 ,(18)=496/* \ (90)=772

log[I* /1* ]

* =49, I* =496
I*0=771,96, =L/ 80, ¢= =0,67,
*16=495,86, A =0

I+ 3 =218,08 % =4 sssv U18 ]

Y18
TY=90

application
ange

.
aYn=36

LABJINDu3
tristimulus value difference
Yac=Yw nc=100,
1% Aanpua =[NI(A 10+A2aV)I(A 20A0n)] (Yn/100<Y<=Yy0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon,a=1,0, see CIE 230:2019
d¥95=0,54, Ay=1,500, ¢=0,67

dY;4=0.12, A1=0.011, Agn 0,0038
dY3,=0,03 Y,=18, dY=0,12

I*,=496 dY,=0,12 dY,/Y,=0,0067 ,
ey

LABJINDu3
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

"1 AganDuz=[IN[A 1n+A2 V(A 20A0n)] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY
(dY/Y},=0,0060, A=1

(dY/Y}g-0,0067, An=0 ,Ag

0, 50038
(dwvgfomos Yu=1& dY=0,12

application
ange

10g(dY/Y)E—2,16 my=-0,10.5 ~ _

I* =496, dY,=0,12 dY,/Y,=0, 00674

1

'y,=18
Yw=90

Yn=3.6

log (Y/AY) LABJNDu3

- tristimulus value contrast
G Yoc=Yw - nc=100,
I* L ABaNDUS=[IN[(A 10 A2nY)J(A 2A0n)] (Yn/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dY 166,14, A=1,500, 6=0,67
(Y/dY)g=147,53, A=0,011, A,=0,0038
(YIdY} =94,56 218, d\=0.12

=496 dY,=0,12 Y,/dY,=147

application
range

=
el

Iog(AY/AY )

log [AYY) I (AYIY),]

log [(Y/AY) I (YAY),]

LABJNDuS3 relative standard lightnessl*/I*
Ync‘YW

=100,
[ nc

1%L aganoua =IN[A 17 +ARY) VA 20A 0] (Ynd 100Y<=Y,o)
1*N(3,6)=218 * ,(18)=496 [*  (90)=772
I* oo/l =1,55, Ap=1,500, 6=0,67

I*1g/l* =1,00, A/ 0,011, 4,0,0038
I* 3 oI¥=0,43, 1,495 86 Y=18

log[i* /I* ]=0, m,=0,33

L* =49, I* =496
application
range

Y,=18
Yy=90

'[™v\=36

LABJNDuS3 relative
tristimulus value difference
Yne=Yw nc=100,

%L aganbua =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIY,=AgfA 1 +AgYIdY,

dYeg/dY,=4,43, Ay=1,500, ¢
Y¢/dY,=1,00, A\n=0,011, Az =o,oo
dY3 ¢dY,=0,31 Y,£18, d=0,12

AY/AY,

o
I*,=496 dY,=0,12 dY,/Y,=0, 0067

LABJNDuS3 relative

_ tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

L aganbua =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,()

(AY/YYAY /Y =(ArtAn Y)Y (dY/Y),]
(dY/Yyo/(6V/Y)=0,88, Ay=1,500, ¢=0,

67
(dY/Y)g/(dY"=1.00, An=0.011, /,=0,0038
(dY/Y%vd(dY/YL-l,SG Y218 dy=0.12

log[(dY/YY(dY/Y)J=0, m=-0,13 1

I*,=496 dY,=0,12, dY,/Y,=0,0067 |

1y,=18
Yy=90

application
range

YN=3.6

LABJNDuS3 relative
tistimulus value contrast
CrlCru=(YIB(YIAY)y - 2y, - =100,

L aganbua =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
(YVIAYY(YIAY), =Y IYIAY )T oA gt Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,500, ¢=0,67

(Y/dY)g/(Y/dY)=1.00. An=0.011, /,=0,0038
(Y/dvféj(wdv =0,64 é 18, d\g—Az”

1 application
1 range

1y,=18
Yw=90




